
∂U/∂t + ∂F/∂x = 0 F = AU A = ΛLL−1

Λ = [ ] 					L = [ ] 					U = [ ]u

0
0

u − a

1
0

2
1

u

a

u a

i − 1

i

i + 1

i + 2

F +
i+1/2

F −
i+1/2

Fi+1/2

∂U/∂t + ∂F/∂x = 0 F = AU A = ΛLL−1

Λ = [ ] 					L = [ ] 					U = [ ] 					F = [ ]u

0
0

u − a

1
0

2
1

u

a

+ 2u2 a2

a(u − a)

u a

i − 1

i

i + 1

i + 2

Z = U = [ ]



Z = U = [ ]u

a

ZL ZR

Fi+1/2

u a

+ = 0
∂u

∂t

∂f

∂x

f = 1
2 u2 u

x u

u

=γ0
1
3

=γ1
2
3

f4.5

uL

uR

f4.5 uL uR

2 2 2 2

1465
326 10 26569

212552



π


